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QUESTION 1

An organization wants to lower its formation technology costs associated with infrastructure management. The
organization has implement and NSX and now wants to consolidate its storage architecture and tools so that all
infrastructure resources can be managed fn

Which option allows the organization to achieve the desired goal?

A. vVSAN

B. Storage DRS

C. Virtual Volumes

D. Storage Policies

Correct Answer: A

QUESTION 2

Which two are challenges that could be resolved by implementing data center visualization? (Choose two.)
A. The IT department allocates 60% of its budget to maintain server infrastructure.

B. An organization\\'s physical server infrastructure averages 30% utilization

C. The IT department is reporting increased security threats at the server level.

D. An organization\\'s physical server infrastructure is approaching 90% utilization.

Correct Answer: AD

QUESTION 3
A beverage company has a critical virtual machine running on vsphere . The virtual machine runs an application that
controls the customer automatic botting line. An outage of this virtual machines stops the line and results in enormous

costs for the business. The application is extremely old and does not support application level clustering .

Which two vsphere features help reduce downtime for this critical virtual machine in case of esxi host failure? (Choose
two )

A. Vshield endpoint

B. Fault tolerance

C. High availability

D. Cross-v center vmotion

Correct Answer: BC
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QUESTION 4

An organization with 3 separate datacenters is looking to standardize their virtual templates

What vSphere feature will allow them to centrally manage the distribution of the VM templates to all 3 datacenters?
A. Storage DRS

B. vMotion

C. Long Distance vMotion

D. Content Library

Correct Answer: D

QUESTION 5

What are two capabilities of Network 1/0 Control? (Choose two.)

A. it sets network reservations for physical traffic entering vSphere Distributed Switches.
B. it enforces a network bandwidth limit on vSphere Distributed Switches

C. it maintains the network runtime state for virtual machines

D. it performs load-based teaming for workloads on teamed vNICs.

Correct Answer: BD
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